Section-1I

MATHEMATICS

While the following sample questions do not collectively comprnise an entire assessment, they do illustrate the manner in which many of the topics might
be assessed. (Calculator use is optional in annwering the multiple-choice guestions.)

1. Which of the following is the graph of -3 =x < 27
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Inthe figure below, which pair of points 15 on the bne Iy + 3y =07
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For the equation 4y = Ix, which of the following statements is true?
[(A) The vabue of y increases 4 tirmes 35 fast 25 the vahie of x.
(B) The vabue of y ncreases I tomies as fast as the vahue of x.

1
(C) The value of y increases 2 35 fast as the vahue of x.

1
(D) The vabue of y increases 9 a8 fast a8 the vabue of x.
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Ifx=-2,y=3, andz=-4, whatis the value of 32

13 5 4 11
(ﬁ}-ﬁ EB'J-H (C}E EDIIE

Which of the following is a graph of a functon of x 7
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6. Tfdx-3(x+1)=3, what isthe vahue of x 7
i
(A) 3 (B) 4 <o (L

7. When a new movie opened at a local theater, the mambers of tickets sold in each of the first four days oere w, x, v, and 2, respectively. If w > x> 1>z, then which of the following

could be tmaeT

(Alx=w+y (Blw=x+y (Cyw+x=x+2 Miw+x+y=2

%. What is the slope of the ne 2x - 5y=137
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9. Inthe equationy = 1°, if x 1s increased by 3, then y s mereased by
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10. The figure above shows a portion of the graph of a funetion ° According to the graph, if Fi{x) =3 6, then x is betweesn which of the following?

{A)land2 (B)2and3 (C)3and4 (D)4 and 5

There are 150 weights. While somme are 1 kg, others are 2 kg The sum of all the weights is 260, What is the number of 1 kg, weights?
(a) 45 &) 35 () 40 {d) 50

Acartravels 12 kms. with his 4/5% filled tank. How far wall it travel if its tank i5 173 filled?
(a)6kms. (b)4 kms. (€} 15 kms. (d) 5 kms.

The sum of the digits of a tovo-digt monberis 5. When 15 iz added to the mumber, the digts are reversed. Find the nurmbes?
(2333 (b} 53 () 30 (d)35

Father's age 15 3 tumes bus son’s age. 4 years back the father was % tmes older than hus son. Find the father's present age.
(a) 42 years (b)40 vears (2} 45 years (d) 38 years

If 20 workers take 15 days o complete a job, ik how many days ean 25 workers firmish the same job?
a) 10days b)12 days €) & davs dy 11 davys

If Bs. 1 260 15 dvided betoeen A, B and © i the ratio 2:3:4, what is C's share?
(a)Rs. 560 (b)ERs 550 () B.s. 540 {d) Fs. 650

If Ais traveling at 72 bon per hour on 2 highway. B is traveling at 2 gpeed of 21 meters per second on 3 highway. What is the difference in their speed inm/sec?
(2)1.2 m'sec(b) 1.1 m'sec {c) | m'sec (dp 0.8 m'sec

Thete 15 a six-letter word UGANDA. How many ways can you amange the letters in the word in such a w3y that both A's ate together.
(a) 24 (b3 240 (=3 &0 (dinone of these

Complete the series. 3, 08, 24, 48 83,
(a)14,34  (b)12,36 {c) 135,33 (d)none of these

Complete the senes: 4,-3, 11,-14,22, _.
(a3 4% (B}=33 (£)=23 (dp=27

A finishes the work in 10 days & B in 8 days mdividually. If A wodks for only & days then how many days sheuld B wodk to complets the remaming woek?
(2)3.2 davs (b)3 daws (€} 2.9 davs (d) 3.6 days

. Aboy has Bs. 2. He wins or loses Re. [ at a time. If he wins, he gets Be. | and if he loses the game, he loses Re. 1. He canloose only 5 trmes. He is out of the game if he eams Bs.

Find the number of ways in which this is possible?

(2312 (b) 14 (320 (d) 158
cavlbhmgab=d Marlib=
(a)312 by 173 () 213 (dy3d
. There is 3 certam number of rows i which if we place 5, 7, or ¥ balls per row, then nio ball
rermnaine. But if we place 11 balls, then one ball is less vo complete the row. Find out no of balls,
{a}) 315 (b} E30 (2} Q45 {d} carmnot be determined
A frog tries to jump out of 2 well 30m high It jumps 3m up and ships down 2m each time, After
how many jumps will it come out of the well?
{a) 30 {B}27 (c) 28 {d} cannot be detenmined
Oun of 10 white, 9 black and 7 red balls, in hew many wavs can we select ane or more balls
{a) 234 (b} 52 (e} 630 (dyE78
A and E throw a dice. The probabalty that A's throw is not greater than B's s
(a) 511 w712 ey 11/12 (dy5/36
Given two munbers A and B, st A denotes the singls AN between these and 5 denoctes the sum of

n AMs between them. Then 5/'A depends upon
{aln (tina cinb (dinab

If the sum of the reots of the squation ax™-bx+c=0 is equal to the sum of the squares of their
reciprocals, then a‘e, b'a, &b are in
{a) AP (b} GP () HP (d)Mone of the these

In the following questions (103 and 106), = represents the integral sign, for example, 1=2 [fix)]
means integration of the fumction fix) over the interval I 1o 2.

The vahie of «1-2[| 2. Jde, 6. integration of the funetion |2.2% aver the interval -1 te 2 i
{a)0 {b)1 (e} 2 {d)Mons of the above

I£ 0= 2 log s Jdx=k, then the value of 0=~C/4[log(l +tan x)jdx whereD stands forp, s
{a) k4 b)k/4 (c) k3 (d) k'8

Ifa b, ¢ be n GF and p g be respectively AN between a b and b e then

(2) 2b=1/p+lig (b)2b=1/p-lig (e} I=a/peiq (d) Mene of the abave
A salution of EMnOd i reduced to Mn02 The nommality of salution iz 0§ The molanty i
(a)y1.8M i) 0LEM ey 0.1 () 0. 20

A person travels 12 kmom the southward direction and then travels Skm to the nght and then
travels | 5km toward the nght and finally travels Skm towards the east, how far s he from his starting place?

(2} 5.5 kms () 3 km {c) 13 km (d) 6.4 kam
110, X's father's wife's father's granddaughter uncle wall be related to X as
(2} Sen (b) Mephew {c) Uncle (d) Grandfather
34. Find the next momber in the senes 1,3, 7,13, 21,31, _
(a) 43 (b) 33 ()41 (d) 45
35, Ifin a certam code "BLANGE" is coded az 12345 and "RANDOM" is coded a2 123678, then the
code for the word "MANGD™ would be
(a) §2357 (b) 85343 (c) 84629 (d) 82347
36. Integrate 3x + 5/ (xlax’x+1)
(2) 112 log | (x=1y(x-1) | - 4igx-1) (b) log [2+tanx
() {1+logx)'x (d) 2 leg{tanx ) (tanx+21)

3.

If v=coscosx = 4simx )1 TW*, then dy/dx s
(a) 0 (LR {e)-1 (d) none of these



